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(k)

=% =44 R 550 [ 20108 2011¢¢%Z%12%kg)2013¢ 2014% | 20155
BEX |[EBRY<T—EH) 3| 6551 6,658 | 6450 | 6253| 6042| 5806| 5617
BA |LEORY<—(#) 3 1358 1717| 1737| 1611 1632 1510| 1429
BEX |#RRY<T—E) 3| 2812 3,081 2,463 2,326 2,691 2,655 2,659
BAR @AY — %) 2| 1,243 1,430 1,120 981 916 980 951
BA |(BWHYrI—X 2 0 0 0 0 0 0 0
ER&Et 13| 11,964| 12,885 11,771| 11,170 11,280 10952| 10,656
INUFY— //\j id jK'g_ 1| 124 105 102 136 132 109 127
=7 ;ifj;SUJNEHD 2| 10069 | 11502 | 6843| 7793| 8612 938 | 9374
FE  |HFNEBRESERLE 1| 3207 2,745 2,402 2,731 2,981 3,195 3,265
FE |REEERESYERLE 1 472 494 646 691 751 884 818
1ok 7Pl S %= 1| 715| 1088| 948| go0| 9%0| 997| 1,080
AR ir// I__rfr;gza q 1 586 459 305 383 535 520 531
mnEaEt 7| 15173 16,393 11,245 12,534| 14,000| 15093 15,194
RY—5 I —T&t 20| 27,138| 29279| 23016| 23704 25281 26045 25850
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40%

i =LA i 20094 | 20104 201?5%%1(20#92_}\2;1)% 2014% [ 2015%
BAR  |[fE#R)<— (k) 3| 11,085| 11,242 | 10932 | 10572 | 10,148 9,626 9,307
BA |LEORYT— () 3| 2239 2828| 2846| 2627| 2676 2443| 2,295
BAR  |[FRRYT— () 3| 4575| 4948 3,915 3692 | 4266| 4207 4213
BAR  [ARRYT— %) 2| 2,031 2,351 1,836 1,605 1,497 1,597 1,555
X | HYrI—X 2 0 0 0 0 0 0 0
ERN&E 13| 19,931 21,369| 19,529 18497| 18587 17.873| 17,369

NIH)— ,/\j%j jKU;_ 1 223 191 180 229 222 185 219
L—7 ;;ii;;ﬁgm 2| 15922 | 18189 | 10822 | 12324| 13619 | 14852 | 14,880
FE  |HNEBRSERLAE 1| 5,131 4,491 3,891 4365 | 4,772 5,105 5,205
HE |REEERSYERLE 1 747 781 1,021 1,092 1,188 1,398 1,293
AVRRST P,‘rEl?,‘,:{/I?‘y A= 1| 1134| 1725 1503| 1267 1568| 1580 1,711
AR frj I__rj;'g\za d 1| 1,149 949 692 856 | 1,089 962 929
B EEt 7| 24307| 26,325 18,109 20,133| 22457 24,081 24,237
RYR—JIL—T5 20| 44237\ 47,694 37,638| 38,630 41,045 41,955 41,606
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=% =itH W% 500675 | 20105 [ 20115 | 2012%& | 2013% | 20145 | 20156
AR |[EEAR)<T— ) 3| 451,249 | 421,829 | 495251 | 426,588 | 435,806 | 413,143 | 411,226
SN LEEDRY < — (%) 3| 17090| 20992 | 18,143 | 15019 | 14529 | 15450 | 13507
B iER)<T— (%) 3| 121,300 | 133,400 | 130,900 | 107,622 | 99,973 | 43,306 | 35,696
B SRR < — (%) 2| 1,714 2,130 1,740 1,998 1,734 1,730 2,054
BA (B HrI—X 2 0 0 0 0 0 0 0
ERNEE 13| 591,353| 578,351| 646,034| 551,227| 552,042 473,629| 462483
) — | YTV RYR—
NHY NS HU—KET. 1 351 313 185 272 313 262 265
I DAVE VR, U ico
RL—7 | 0 S 5 SDNBHD. 2| 186,990 | 201,380 | 117,350 | 106,660 | 104,023 | 115,941 | 110,427
FE BMNEHREERELT 1| 100,500 | 74,300 | 70,440 | 71,412 | 57,367 | 35142 | 42,999
R E HEEHREMARAT 1| 3,835 6,061 7,647 7,590 6,714 | 11574 10,710
cras—|PT. POV RYI—
AVRRIT SRR T 1|  9,000| 13,000 11,000 8,703 | 11,496 | 13,076 | 10,774
e [Ty Ry —
AR (=7 PutlLtd. 1| 16,800 6,200 3,600 4910 8,690 | 14,893 | 10,159
Eaast 7| 317,476 301,254 210,222| 199,547| 188,603| 190,887| 185,334
RY<=—J IWL—T5&t 20| 908,829| 879,605 856,256| 750,774| 740,645 664,516 647,817

FENEHRAHDZRIE0"ZRLRALTNET,

ER) v —#A =4




BRKEDHD

(Fm?) ‘ COfEIRKE ——UY LI IVE
10,000 120%
87% ‘88%‘ 88% 90% 90% 91% 91%
8,000 ° ° & o— - & 90%
6,000 60%
6,814 6,864 6,802
w00 | l6215)  [64s2  [eseo (6814 (ese4 (6802 gigg |
2,000 0%
20094 20104 20114 20124 20134 20144 20154
. FEERIE(M3)
=% =& HLIR 2K 20092 | 2010%&F [ 20114 | 2012%F [ 2013%F [ 2014%F | 2015%
AR SR ~— (%) 3| 1,564,000 | 1,579,000 | 1,719,000 | 1,605,274 | 1,607,814 | 1,585,889 | 1,586,131
BEA |LAEORY<T—#) 3| 2,881,000 | 2,881,000 | 2,881,000 | 2,881,000 | 2,880,150 | 2,580,250 | 2,055,470
AR |FERY— () 3| 1,150,000 | 1,335,000 | 1,335,000 | 1,360,478 | 1,386,506 | 1,404,965 | 1,293,033
BA  |JEFAR)<T— ) 2| 297432 | 297432 | 297432| 576697 | 572,171 | 605478 | 586,617
=P )Yz —X 2 0 0 0 0 0 0 0
ERNEEt 13| 5,892,432 6,092,432| 6,232,432| 6,423.449| 6,446,641| 6,176,582| 5521,251
R [TV R)R—

NUAHY I\ H Y —KET. 1 0 0 0 0 0 0 0
o |YYIY R —

Al sy  SDN.BHD. 2| 65,320 66,240 65,090 65,600 70,000 73,560 71,735
FE  |HNEBREERATE 1 0 0 0 0 0 0 0
FE HEEHREMERLT 1| 235206 | 241,776 | 244842 | 303,100 | 320,343 | 525842 | 567,073
. s —|PT. DUITY RYT—

AVRRLT AR 1 22,000 32,000 27,000 21,400 26,891 25,775 28,093

e |PrvTY AR —
128 U547 Putind, 1 0 0 0 0 0 0 0
ENEE 7| 322,526] 340016] 336,932 390,100 417,234| 625,177| 666,901
RIX—J IL—T5 20| 6,214,958| 6,432,448| 6,569,364| 6,813,549 6,863,875 6,801,759| 6,188,152
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FEHRIE(M3)
A n 2.
=% =% Bl 20094F | 20104F | 20114 | 20124 [ 20134 | 2014%F | 20154
B {EHARY) < — (%) 3| 370,249 | 317,829 | 420,251 | 356,545 | 377,693 | 357,721 | 356,094
BA LADR)<— (%) 3| 17284 | 20555| 18,143 | 15,019 14,469 14,697 13,494
B iER)<T— (%) 3| 121,300 | 133,400 | 130,900 | 107,621 99,973 43,306 35,696
B SRR < — (%) 2| 1,710 2,130 1,740 1,998 1,734 1,722 2,054
BA (B HrI—X 2 0 0 0 0 0 0 0
ERNEE 13| 510,543| 473,914| 571,034| 481,184| 493869 417.446| 407,338
) — | YTV RYR—

NHY NS HU—KET. 1 351 313 185 272 313 262 265
s |PYTY R —

RL—7 | 0 S 5 SDNBHD. 2| 186,990 | 201,380 | 117,350 | 106,660 | 104,023 | 115941 | 110,427
FE BMNEHREERELT 1| 67,500 | 44,100 | 25132 | 25,236 18,098 16,262 23,440
R E HEEHREMARAT 1| 3,835 6,061 7,647 7,590 6,714 11,562 10,688

cras—|PT. POV RYI—

AVRRIT SRR T 1|  9,000| 13,000 11,000 8,703 11,496 13,076 10,870
e [Ty Ry —
1~k A>T 47 Pvt.lLtd. 1 0 0 0 0 0 0 0

Eaast 7| 267,676 264,854 161,314 148461| 140,644 157,103| 155,690
RY<=—J IWL—T5&t 20| 778,219| 738,768| 732,348| 629,645 634,513 574548 563,029
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FERIEGFY)
=% =itH W% 50007 | 20105 [ 20115 | 20125 | 20135 [ 20145 [ 20155
AR |[EEAR)<T— ) 3] NA NA NA NA NA NA NA
BA LAEDR)<— (%) 3] NA NA NA NA NA NA NA
AR [#FER)T— ) 3] NA NA NA NA NA NA NA
BA [EfRUY—GR) 2l NA NA NA NA NA NA NA
BA (B HrI—X 2|  NA NA NA NA NA NA NA
ERNEE 13 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o |YYITY RYR—
NoB)— |7 U H Y —KET. 1| NA NA NA NA NA NA NA

s |PYTY R —

RL—7 | U S 5 SDNBHD. 2l NA NA NA NA NA NA NA
FE BMNEHREERELAT 1 2.0 14 5.4 3.2 0.2 0.9 12.2
FE HEEHUREMERLT 1 0.1 0.0 0.3 0.2 0.2 0.2 0.1

s —|PT. POV RYI—
AR T LR T 1 0.7 0.4 10 0.8 0.3 25 1.0
e [Ty Ry <—
AR U347 PutLtd. 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Eaast 7 2.8 1.8 6.7 42 0.7 36 13.3
RY=—J IWL—T5t 33 2.8 1.8 6.7 42 0.7 36 1.0
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FEREGFY)
=% =itH =% 50007 [ 20105 [ 20115 | 20125 | 2013% | 20145 | 20156
BXR |[E#RY<T—(#) 3] NA NA NA NA NA NA NA
BA LEDOR)<— (%) 3] NA NA NA NA NA NA NA
BEA (#FERII— ) 3] NA NA NA NA NA NA NA
BA [#EOR)Y— ) 2l NA NA NA NA NA NA NA
BA ) HI—X 2|  NA NA NA NA NA NA NA
ERANAE 13 0 0 0 0 0 0 0
. 1 Ty RYy<—
INUH) NS H—KFT. 11 NA NA NA NA NA NA NA
s |PYIY R Y—
RL—27 | S0 S SDNBHD. 2| NA NA NA NA NA NA NA
FE BMEBREERAT 1 0.4 0.3 1.7 15 1.1 0.0 38
HhE HEEHBREYAERAT 1 0.0 0.0 0.1 0.1 0.0 0.0 0.0
. tas —|PT. DUITY RYT—
ARRLT AR 1 0.3 0.2 05 0.4 0.1 1.2 0.4
e |V IV R <—
AR A7 PutLtd. 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BN aE 7 0.7 05 2.2 1.9 1.2 1.2 43
RI<R—5 IL—T5t 20 0.7 0.5 2.2 1.9 1.2 1.2 43
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FERIEGFY)
=% =itH W% 00675 | 20105 [ 20115 [ 20125 | 2013% | 20145 | 20156
AR |[EEAR)<T— () 3] NA NA NA NA NA NA NA
BA LADR)<—(#%k) 3] NA NA NA NA NA NA NA
AR [#FER)T— ) 3] NA NA NA NA NA NA NA
BA [EfRU~Y—GR) 2l NA NA NA NA NA NA NA
BA (B HrI—X 2|  NA NA NA NA NA NA NA
ERNEE 13 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o |PYTY RYR—

NAHY NS HU—KET. 1| NA NA NA NA NA NA NA
o |PYTIV RN —

RL—7 | 0 S 5 SDNBHD. 2l NA NA NA NA NA NA NA
FE BMNEHREERELT 1 1.1 04 0.7 2.2 2.1 0.9 2.3
FE HEEHREYMAERAT 1 0.0 0.0 0.1 0.0 0.1 0.1 0.1

s —|PT. POV RYI—

AR T Pt 1| NA NA NA NA NA NA NA
e [Ty Ry <—

AR U347 Pt Ltd. 1| NA NA NA NA NA NA NA
Eaast 7 1.1 0.4 0.8 2.2 2.2 1.0 24
RY<=—J IWL—T5&t 20 1.1 0.4 0.8 2.2 2.2 10 2.4
FDESHEZUDBEIX'NA"ZEEALTLVET,

ER) v —#A =4




[FOCABHEDHER

(k)

1.0
0.8
0.6
0.4
0.2

0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.0

20094 20104 20114 20124 20134 20144 20154

FERIEGFY)
=% =itH W% 00675 | 20105 [ 20115 [ 20125 | 2013% | 20145 | 20156
AR |[EEAR)<T— () 3] NA NA NA NA NA NA NA
BA LADR)<—(#%k) 3] NA NA NA NA NA NA NA
AR [#FER)T— ) 3] NA NA NA NA NA NA NA
BA [EfRU~Y—GR) 2l NA NA NA NA NA NA NA
BA (B HrI—X 2|  NA NA NA NA NA NA NA
ERNEE 13 0.0 0.0 0.0 0.0 0.0 0.0 0.0

) — | YTV RYR—

NUAY NS HU—KET. 1| NA NA NA NA NA NA NA
o |PYTIV RN —

RL—7 | 0 S 5 SDNBHD. 2l NA NA NA NA NA NA NA
FE | BNEBREERAE 11 NA NA NA NA NA NA NA
FE HEEHUREMERLT 1 0.00 0.00 0.00 0.00 0.00 0.00

s —|PT. POV RYI—

AR T Pt 1| NA NA NA NA NA NA NA
e [Ty Ry <—

AR U347 Pt Ltd. 1 NA NA NA NA NA NA
Eaast 7 0.00 0.00 0.00 0.00 0.00 0.00 0.00
RY<=—J IWL—T5&t 20 0.00 0.00 0.00 0.00 0.00 0.00 0.00
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FEREGFY)

=% =itH =% 50007 [ 20105 [ 20115 | 20125 | 2013% | 20145 | 20156
BXR |[E#RY<T—(#) 3] NA NA NA NA NA NA NA
BA LEDOR)<— (%) 3] NA NA NA NA NA NA NA
BEA (#FERII— ) 3] NA NA NA NA NA NA NA
BA [#EOR)Y— ) 2l NA NA NA NA NA NA NA
BA ) HI—X 2|  NA NA NA NA NA NA NA

ERNEaEt 13 0.00 0.00 0.00 0.00 0.00 0.00 0.00
. 1 Ty Ry<—

NAHY NS H—KFT. 1 0.02 0.02 0.01 0.03 0.03 0.00 0.04
s |PYIY R Y—

RL—27 | S0 S > SDNBHD. 2| NA NA NA NA NA NA NA
HE BMEBREERAT 1| NA NA NA NA NA NA NA
FE HEEHREYMARLTA 1 0.00 0.00 0.00 0.00 0.00 0.00 0.00

. tas —|PT. DIV RYT—

ARRLT Py 11 NA NA NA NA NA NA NA
S DAVE iV ) e
AR S A7 PutLtd. 1 NA NA 0.25 0.89 0.00 0.00

BNEET 7 0.02 0.02 0.01 0.28 0.92 0.00 0.04
RI<R—5 IL—T5t 20 0.02 0.02 0.01 0.28 0.92 0.00 0.04
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FERIEGFY)
A lJ_.—. 2.
=% =itH W% 500075 | 20105 [ 20115 | 20125 | 2013% | 20145 | 20156
AR |[EEAR)<T— ) 3] NA NA NA NA NA NA NA
BA LAEDR)<— (%) 3] NA NA NA NA NA NA NA
AR [#FER)T— ) 3] NA NA NA NA NA NA NA
BA [EfRUY—GR) 2l NA NA NA NA NA NA NA
BA (BR)PoxT—X 2|  NA NA NA NA NA NA NA
ERNEE 13 0.00 0.00 0.00 0.00 0.00 0.00 0.00
o |YYITY RYR—

NAHY NS HU—KET. 1 0.00 0.00 0.00 0.00 0.00 0.00 0.35
o [PV TIY RN —

RL—7 | U S 5 SDNBHD. 2l NA NA NA NA NA NA NA
FE | BNEBREERAE 11 NA NA NA NA NA NA NA
FE HEEHUREMERLT 1 0.00 0.00 0.00 0.00 0.00 0.00 0.00

s —|PT. POV RYI—

AR T Pt 1| NA NA NA NA NA NA NA
e [Ty Ry <—

AR U347 PutLtd. 1 NA NA 0.09 0.35 0.00 0.00

Eaast 7 0.00 0.00 0.00 0.09 0.35 0.00 0.35

RY=—J IWL—T5t 20 0.00 0.00 0.00 0.09 0.35 0.00 0.35
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FERIEGFY)
= L =
=% e Mm% 500675 | 20105 [ 20115 [ 20125 | 2013% | 20145 | 20156
AR |[EEAR)<T— ) 3l 1,092 1,180 1,078 978 1,161 1,312 1,138
BA |LEORY<—#) 3 307 636 430 372 315 291 293
AR [#FER)T— ) 3 724 601 430 296 377 414 417
B SRR < — (%) 2 373 447 331 297 278 321 304
BA (B HrI—X 2 0 0 0 0 0 0 0
ERNEE 13 2,496 2,865 2,268 1,944 2,131 2,338 2,152
) — | YTV RYR—
NAHY NS HU—KET. 1 13 8 8 10 12 11 13
I DAVE VR, U ico
RL—YF | S0 S5 SDNBHD. 2 893 1,108 1,129 988 1,283 1,328 1,477
FE BMNEHREERELT 1 873 612 420 416 386 441 493
R E REEHREYWAERAT 1 76 118 153 180 124 139 218
cras—|PT. POV RYI—
AURHRIT R 1 132 210 196 156 89 65 82
e [Ty Ry —
AR 7 Putltd 1 88 56 3 11 64 89 92
Eaast 7 2,075 2,112 1,907 1,760 1,959 2,074 2,376
= 20 4,570 4,976 4,176 3,704 4,089 4,411 4,529
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=% A R o550 [ 20108 2011¢¢f§2§05111'215£~/)2013¢ 2014% | 20155
BEX |[EBRY<T—EH) 3 1,085 1,176 1,071 976 1,159 1,283 1,133
BA |LEORY<—(#) 3 306 633 426 371 313 287 293
BEX |#RRY<T—E) 3 707 582 422 294 377 413 414
BAR @AY — %) 2 373 447 331 297 278 321 304
BA |(BWHYrI—X 2 0 0 0 0 0 0 0
ERE&Et 13| 2472| 2838|2249 1939 2127| 2304 2144
ERNEERILE 99.0%  99.1%  99.2%|  99.8%|  99.8%|  98.6%  99.6%
INUFY— //\j %d jK'g_ 1 9 5 2 4 6 7 12
-7 ;;fj;s'ﬁgm 2 360 463 467 280 389 408 833
FE  |HFNEBRESERLE 1 657 522 385 371 340 374 380
FE |REEERESYERLE 1 1 4 3 3 3 1 3
O S Pt dd == 1| 132 210  196] 156 89 65 82
AUk frj I__rfr;g\za . 1 59 33 2 8 15 29 23
mNEEt 7 1219 1237 1,054 822 842 885 1,333
B EERIEE 58.7%|  58.6%|  55.3%|  46.7%|  43.0%  42.7%|  56.1%
&it 20| 3690 4075 3303 2,761 2968 3,189 3,477
BERLE 80.7%|  81.9%  79.1%|  745%  72.6%  72.3%  76.8%
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FERIEGFY)
= L
=% e M3 500675 | 20105 [ 2011% | 2012%& | 2013% | 20145 | 20156
BX |[E#RY<T—(#) 3 5.0 4.1 6.3 0.0 0.0 0.4 2.8
BA |[LEORY<—(#) 3 0.4 3.4 45 1.2 2.0 33 0.0
BEA (#FERII—#) 3 1.9 7.3 1.1 0.0 0.0 0.1 0.0
BAX SEFRY < —(3%) 2 0.1 0.0 0.0 0.0 0.0 0.0 0.0
BA () Hrz—x 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ERNEE 13 7.4 14.9 11.9 1.2 2.0 38 2.9
EARRELSE 0.3% 0.5% 0.5% 0.1% 0.1% 0.2% 0.1%
i |V TY RYT—
NHY TN A —KFT. 1 4 3 5 6 5 4 2
R AV AV, U icen
RL—27 | S0 S SDNBHD. 2 532 644 662 708 894 920 645
FE BMEBREEARAT 1 216 90 34 45 46 67 113
hE HEEHBREYAERAT 1 75 114 150 177 122 126 194
SIS PT :/QI‘y I-I_{)U7_
AVRRTT AR 1 0 0 0 0 0 0 0
e | IVRY<—
AR S 7 PutLtd. 1 29 23 1 3 49 60 68
BN EET 7 855 874 853 938 1,117 1,177 1,022
B BN 41.6% 42.1% 45.4% 53.4% 57.1% 56.9% 43.1%
= 20 862 889 865 939 1,119 1,181 1,025
A f& L5y 38 18.9% 17.9% 20.7% 25.4% 27.4% 26.8% 22.6%
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100.0%
83.5%
80.0%
60.0%
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10 b--|  t-----tt----- - - 14 - 200%
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20094 20104 20114 20124 20134 20144 20154 R
FERIEGFY)
¥ 5 =
=% L% Mm% 500675 | 20105 [ 20115 | 2012%& | 2013% | 20145 | 20156
BXR |[E#RY<T—(#) 3 0.07 1.10 0.10 0.09 0.54 0.92 0.09
BX |LBEORY<— () 3 2.50 1.10 1.13 1.10 0.89 1.33 0.98
BEA (#FERII— ) 3 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BAX SEFRY<— (#%) 2 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BA H)HoI—X 2 0.00 0.00 0.00 0.00 0.00 0.00 0.00
= 13 2.57 2.20 1.22 1.19 1.43 2.25 1.07
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20094 20104 20114 20124 20134 20144 20154 FRE
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BX |[E#RY<T—(#) 3 0.12 0.20 0.15 0.12 0.12 0.12 0.12
BX |LBORY<— (k) 3 0.30 0.27 0.35 0.15 0.27 0.32 0.23
BEA (#FERII— ) 3 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BAX SEFRY < —(3%) 2 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BA H)HoI—X 2 0.00 0.00 0.00 0.00 0.00 0.00 0.00
= 13 0.42 0.47 0.50 0.27 0.39 0.44 0.35
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—— R EENE
6 6.00
472
5 5.00
408 3.92
4 / /\ 4.00
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20094 20104 20114 20124 20134 20144 20154 FE4E
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SN SR < — (%) 3 0 0 0 0 0 0 1
BR LAEDR)<—(#k) 3 0 0 0 0 0 0 0
BR iR v — (%) 3 0 1 0 1 0 0 0
SN AR — (%) 2 0 0 0 0 0 0 0
BR H)HrI—X 2 0 0 1 0 0 0 0
ERARELE 13 0 1 1 1 0 0 1
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